
Answer on Question #74564-Physics-Mechanics-Relativity 

A sail boat sails at a heading of 72 degrees with a velocity of 20.0 km/h. The boat sails in a current of 5.00 km/h 

at a heading of 25 degrees. 

What is the actual velocity of the boat? 

Solution 

The actual velocity of the boat is 

𝑽 = 𝑽𝒃𝒐𝒂𝒕 + 𝑽𝒄𝒖𝒓𝒓𝒆𝒏𝒕 

𝑉𝑥 = 20 cos72 + 5 cos 25 = 10.71
𝑘𝑚

ℎ
 

𝑉𝑦 = 20sin 72 + 5 sin 25 = 21.13
𝑘𝑚

ℎ
 

𝑉 = √(10.71)2 + (21.13)2 = 23.7
𝑘𝑚

ℎ
 

𝜃 = tan−1
21.13

10.71
= 63.1° 

The actual velocity of the boat is 23.7 km/h at a heading of 63.1 degrees. 
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